

## 04/29/2021

Vendor Ranking							
Letting:	02210421	April 21, 2021 11:00 AM	Call Order	: 005	Contract:	E2Z76-R0	
District:	District 2		Counties: DIST/ST-WIDE, ST		Fed Aid No: N/A		
Contract Time:	365 CALENDAR DAYS			JOHNS	Project(s):	41021477229 (*)	
Contract Desc:	Desilt Drainage Structures in St. Johns and Duval Countiees						

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	ENVIROWASTE SERVICES GROUP, INC.	Responsive	Winning bid	\$58,200.00	100.00%
2	ATLANTIC PIPE SERVICES, LLC	Responsive	Non-Winning Bid	\$70,285.00	120.76%
3	GULF COAST UNDERGROUND LLC	Responsive	Non-Winning Bid	\$72,174.00	124.01%
4	MIDWESTERN CONSTRUCTION, INC	Responsive	Non-Winning Bid	\$115,200.00	197.94%
5	FLOTECH ENVIRONMENTAL LLC	Responsive	Non-Winning Bid	\$117,200.00	201.37%
6	MAER HOMES, LLC	Responsive	Non-Winning Bid	\$128,500.00	220.79%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



## 04/29/2021

## Tabulation of Bids

Page 1 of 3

Letting:	02210421 April 21, 2021	Call Order:	005	Contract: E2Z76-R0
District:	District 2	Counties:	DIST/ST-WIDE, ST	Fed Aid No: N/A
Contract Time:	365 CALENDAR DAYS		JOHNS	Project(s): 41021477229 (*)

Contract Descr: Desilt Drainage Structures in St. Johns and Duval Countiees

Provide all labor, materials, equipment, and incidentals to remove and dispose of silt, debris, vegetation, soil, rock, or any type of blockage inside a pipe or box culvert on State rights-of-way. RENEWAL OPTION. BID EXPRESS MANDATORY.

	e No / Item ID n Description	Alternate	Quantity Units	(1) ENVIROWAS GROUP		(2) ATLANTIC PI LL			F COAST ROUND LLC
	dicates item is bio	l as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001 (	CLEAN DRAIN		ES (LF				
0005 DESIL <sup>-</sup>	E430 94 1 F PIPE, 0 to 24"		3,500.000 LF	3.00000	10,500.00	3.05000	10,675.00	3.34000	11,690.00
0010 DESIL <sup>-</sup>	E430 94 2 T PIPE, 25-36"		5,600.000 LF	4.00000	22,400.00	4.85000	27,160.00	5.56000	31,136.00
0015 DESIL <sup>-</sup>	E430 94 3 T PIPE, 37-48"		2,200.000 LF	6.50000	14,300.00	7.50000	16,500.00	7.78000	17,116.00
0020 DESIL <sup>-</sup>	E430 94 4 F PIPE, 49-60"		1,100.000 LF	10.00000	11,000.00	14.50000	15,950.00	11.12000	12,232.00
		DRAINAGE Sec URES (LF)	ction Totals:		\$58,200.00		\$70,285.00		\$72,174.00

**Contract Grand Totals:** 

\$58,200.00

\$70,285.00

72,174.00



Page 2 of 3

Letting	<b>g:</b> 02	210421 Aj	pril 21, 2021	Cal	l Order: 005		Contract:	E2Z76-R0	
	No / Item ID Description	Alternate	Quantity Units	(4) MIDW CONSTRUC		(5) FLO ENVIRONME		(6) MAER H	IOMES, LLC
( ) inc	dicates item is bio	l as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001 (	CLEAN DRAIN	AGE STRUCTUR	ES (LF				
0005 DESILT	E430 94 1 PIPE, 0 to 24"		3,500.000 LF	6.00000	21,000.00	4.00000	14,000.00	5.00000	17,500.00
0010 DESILT	E430 94 2 PIPE, 25-36"		5,600.000 LF	7.00000	39,200.00	9.00000	50,400.00	10.00000	56,000.00
0015 DESILT	E430 94 3 PIPE, 37-48"		2,200.000 LF	15.00000	33,000.00	15.00000	33,000.00	15.00000	33,000.00
0020 DESILT	E430 94 4 PIPE, 49-60"		1,100.000 LF	20.00000	22,000.00	18.00000	19,800.00	20.00000	22,000.00
		DRAINAGE Sec URES (LF)	tion Totals:		\$115,200.00		\$117,200.00		\$128,500.00

Contract Grand Totals:	\$115,200.00	\$117,200.00	128,500.00



Page 3 of 3

Letting:	02210421	April 21, 2021	Call Order: 005	Contract:	E2Z76-R0		
NOTE: Evilure to file a protect within the time propertied in eaction							

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.